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Note :- Attempt five questions in all, selecting at least one

question from Section A, B, C and D. Question

No. 1 is compulsory.

Compulsory Question

1. Attempt any nine questions of the following : 9x2=18

(i) Distinguish between micro economics and macro

economics.

(ii) Give the meaning of fuel employment as per

classical economists.
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(iii) Write the causes of fall in MFC (Marginal

Propensity of Consume) with the increase in

, income.

(iv) Discuss two determinants of effective demand,

(v) Define Prospective Yield (PY).

(vi) What do you mean by Fiscal Policy ?

(vii) Mention main instruments of monetary policy,

(viii) Give the meaning of liquidity trap,

(ix) What is meant by value of Money ?

(x) Bank Rate

(xi) Give primary functions of money,

(xii) What are the functions of a Bank ?

Section-A 18 each

2. Explain and define autonomous investment and

induced investment and discuss the factors affecting

investment decisions.

3. Define Multiplier. Discuss its forward and reverse

operations. Also give the leakages in its operation.

Section-B 18 each

4. Explain and criticise Says' law of markets.

5. Explain Keynesian theory of income and employment.
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Section-C 18 each

6. Critically examine Fisher's quantity theory of money.

7. How credit is created by Banks ? Give limitations of

credit creation.

Section-D 18 each

8. Define Inflation. What are the causes of inflation ?

Suggest measures to correct it.

9. What is meant by Trade Cycles ? Mention various

phases of trade cycles.
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